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fxuuhqw dffrxqw,/ udwkhu wkdq wkh lq dwlrq0dgmxvwhg fxuuhqw dffrxqw/ jrhv wr }hur> vhh wkh

Dsshqgl{1 Li wkh lq dwlrq0dgmxvwhg fxuuhqw dffrxqw jrhv wr }hur dqg lq dwlrq lv uxqqlqj

dw 5( shu |hdu/ wkhq wkh gurs lq wudghg jrrgv frqvxpswlrq lv rqo| derxw 48(1 Wkh

49( �jxuh xvhg lq wkh wh{w vhhpv d uhdvrqdeoh plggoh jurxqg jlyhq wkhvh wzr srvvleoh

dvvxpswlrqv rq wkh vl}h ri wkh fxuuhqw dffrxqw dgmxvwphqw1

J(



��������
�7� ��� 
� 
����� �� �
������� ��� ��� �� ������� ��� �������G���
�

5
��� ���� � ��- ���� �� ������ �

�� ������ ��� � I- ���� �� �
�������

�

�� ������ 6��������� 5� ��� �������� �
������� E�4���� ������ $���73

+$��� � ��� 5���$��� �	����� 
� �$� �5
 �

��8 6�
�7 ������ 5
��� ������

�
������3 ����� �$� ����� 
� ������ �

�� �� ��� �� 5
��� ���"���� � ��-

���� �� �$��� �
������ �
����� ����� 5
��� ��:���� � ��- ����������
� 
� �$�

�
����� �
���� �4�$���� ����3

L
�� �$�� �	�� ����� E�4���� ������� 
�� 5
��� ��� � ���$ ������ �$����

�� �$� �4�$���� ���� �� �$� ��������� 
� ����������
� ���5��� ������ ��� �
�1

������ �

�� 5��� �
5��3 ��� �� ���� 5��$ �
�� 
� �$� ��������� ����� ��
	�� �

5��� ��� ������� 
� �� �$� �4�$���� ���� ����������
� 5
��� �
���� �� ��G� �


��-3 +$�� ���������
� �
�� �
�� 
� �
����� ��"� ���
 ���
��� 	�� �$
�� ���

����� ���������� 6�� 5� �$��� �
 �� � �
����7� �
 �� �$
��� �� �$
��$� 
� ��

� ������1����� 
��1 �
 �5
1 ��� �������
3 �	�� �$� �
���� ���� ������������


� ����������
� ��� ��"�� �
 �� $��$�� �$�� � � �3 H��$ � � �� �
� �4��1

���� �$� ����� �&���� ��� :��������3 �	�� �$� 	�� �
�� ���� ����
� �
����� 

���
�� ����
�� 5
��� ���� �
 �������� �$� ����� �&���� �	�� ����$��� ���$���

����������� �$�� ������� 3

����� ��
� 
�� �
����	���	� �$
��� 
� � �� �$� ��������� 
� ����������
�

�� �$� ������ ���� 
�� ���������
�� ��� ���$��� �
����	���	� �� ��
�$��

�������
�3 �� ����������� �$� ��	�� 
� ���"�� ����������
� ��������� � �$�

JJ



��
�� ����� 
� ��������� ��GG��� �� �����
� ( �
��� �� �
������� �
 ���� 

�$�� �
��������� ���� �$�� ��� 
� .�� �� ��������� �� ����� �� �$� �$
��

���3 ��� �
� �4������ 5� ��"� �A	� �
 �� ��- ������� 
� ��-� �	�� �$� �
�

6������ ��������� 7 ���� 5
���  ���� � ���$ ������ �4�$���� ���� ����������
��


� ��
��� ���3

+�0 3��
�� �� �  ��� ����
�!

H� �
5 ���� �
 �$� ��4�1�
1���� �
4 �� B����� 23 ����� �
5� 5� $�	� �������

�$�� �
����� �4�$���� ���� �
	������ ��� ��E����� 
��1�
�1
�� �� �$� ������


� �������� �

��� ��� �$�� ���� ����
 ���� �� �
�����
��� ����������3

+$��� ��������
�� ���$� �� ��������� �� �$� ������� ���
���8� ����������

�
 ������� �� ������� ��� ������ �����������3 +$� ������� 5
��� �

" :����

��&������ $
5�	��� �� �$� �� �4��������� � ������ ��	�����3

H� $�	� ������ 
����	�� �$�� �4�
����� �
 �$� �� ����� �
 ���"��� ����1

��� �$�
��$ 
�� ��
�� $��� 
� �� �4�$���� ���� �$���� �
 ���
����� �� �$�

�$
�� ��� 
� �  ���3 +�"��� �$�� ����
� ���
 �
���������
�� �$� B�� 5
��� $�	�

�
 �� 5������ �
 ���
5 � ��- ���$�� �$�� � ��- ����������
� 
� �$� �
����� ��


���� �
 �������� �
�$ �$� ��� ��� �$� ��	�� 
� ����
 ���� �� �$� �
�������

����
�3

������� �$� �������
� �
��� �� ���$ 5
��� �� �$� ������� ���
��� ��
��

�

 ��������
��� ���
 �������3 +$�� ��"�� �� �
 �$� ���� �
4 �� B����� 23 ��

JI



5� $�	� ���������� �$� ������ 
� �
�� ��1��
����� �

��� �	��� ����������

���� �
 �� �4������ ����" �� �$� 	�� �$
�� ���3 �������� �$�� ���
���

���
��� �
� �
��$� $��� 
� ��� ��������� �
������� �$�� � ���$ ������ �
�1

��� ����������
�� ���$��� 
� �$� 
���� �	�� 
� ��1��-� 5
��� �� ������ �


���	��� ������
 ���� �� �$� �
���������� ����
�3 ��������� �
 ������ ���1


�
��� �$�� ,��� �����,����
� �&���� ��
� ��- �
� �� � ��-� ��:����� �

�
�� �������� �
��� �$�� �$� 
�� 5� $�	� ��������� $���3 ���
� �$� B��

���$� 	��5 �
 �4����� � ����������
� �� ����������� ����� �������� �� 5���

�� ,������� �������� � ��� �$

�� �
 ���
5 
�� � ������� ����������
�3 +$��

����
���� $
5�	��� 5
��� "��� �$� ������	� ����� 
� �
���������� �

 $��$�

��� �$��� 5
��� �� �
5�5��� �������� 
� ����
 ���� �� �$� �
����������

����
��3 +$��� � ����� ��	����� �� �$� ������� ���
��� 5
��� �
��� �$� B��

�
 ���� � ������� �����
& ���5��� $��$�� ������
 ���� ��� ������� �
����

����������
�3

�� 
�� ���������
�� �
��� 5���1� ��� �$� ������ �$
��� �
�� �$�� � �
����

����������
� 
� �$� 
���� 
� ��- �� ����� ���$ �$� �$
��1��� ������ 
��

���� ��
� 
��1���$�
��� �����1����� ����"1�
4 ����
 �
����3 +$
�� �
����

���� �
 ������� �$�� � � ������� 
� .�� �� �������1���
��� �$���� �� ��1

�
������ 5��$ �
��$� � �� ������� ���� �4�$���� ���� �$����3 ��� �
����

$
5�	��� �������� � ���$ ������� ������1���� ����������
� �$�� �
�� 
�

�$��� �
����� ��� �$�� �� �������� 5$ � �� �$� ��4� �����
�� 5� ��� ���� �


J>



�
������ �$�� � ������� ������� �� �$� ��,��� 5��� �� ���
������� � � ���$

������� ������� �� �$� �
����3

+�4 " � 	���� �� �����

+$� ������ ��	����� �������
 �� 	�� ������� �
 5$�� 5� $�	� 
����	�� �� �$�

��� ��	��
���� �
������� �$�� $�	� ���� �
���� �
 �������� ����� �������1

��
�� 
� ������� ���
��� ��,����3 !�� �� �$� ������ ��� ���� �$� ��� �&����

�
�� ��
� �$� ������ ���������
� 
� �$� ��,���� �
� �������� ��
� �$� ��G�


� �$� ����3

�
������ �$� �4���� �
 5$��$ ���� �� �4������ ���������� �4���������

�$� �$
�� ��� ������1���� ���� �4�$���� ���� �
������
� ��������� ��:�����

� � ������ ������ �
 � G��
 ������� ���
���3 � ������ ���������
� �$
5�

�$�� ������ ��
�$�� �- �
 �$� �4������ ����1.�� ����
 �
�� �
� ������ 

�4�������� �$� �
��� 
� � ��	������ �$
��$ �� �� �������� �$� ��"���$

�3 B
�

�4������ �� �$� �� ������� ���
��� ��,��� �
������� �� �$� ���� 
� ���- 
�

.�� ���  ���� �� � 5
��� ���� �������� ���� 
� �-� �$�� �$� �� �4������

���� ������ 5��� ��
5 � ���� �$�� ���- 
� .�� ���  ���3 +$� �
	� �


������� ���
��� �������� �� �$�� �
���� 5
��� ��	
�	� 
�� � ����$�� �������

����������
� �$�� �$� 
�� ���������� ��
	�� �� �$� 
������ /- �������346

46Revhuyh/ krzhyhu/ wkdw wkhuh zrxog kdyh ehhq d vwhdg| ghsuhfldwlrq ri wkh groodu

ryhu wkh lqwhuyhqlqj �yh |hduv/ vlqfh wr pdlqwdlq d frqvwdqw fxuuhqw dffrxqw gh�flw zlwk

J)



H$�� 
�� ��� ��� ��
� �$�� ���������
� �� �$�� �$� ���� ������ �� �$� �$
�"


� � ������ ��	����� �� � 5
��� 
� ����" ������� ���$�� �$�� �$� :�����
� 
�

5$��$�� �$� ����1.L� ����
 ���"� �� ��- 
� ��-3

+�5 2��� � � ����	� �� � � � �	� 
�����/

������ 
�	�
��� � �$� ���$� 
� �$� ������� ���
��� ��� �$� �4�$���� ����

��� ���������
��� ����������� �$
����8� �$��� �
�������
� ������ $��	�� 


� �$� �
���� 
� �$� �4
���
�� �$
�" �$�� ���	�� �$� ������� ���
��� ���


�������; �� ����� ������� �$� ����
 
� �
��������� 
����� �
 .�� ����� �
�

�
 �
	� �$���� � 5� �����	� �$�� �$� �$����� 5� $�	� ������,�� 5��� �4�����

������ ���
�� � 	����� 
� �������
� 
��� 
�� ������ �� �� � �
�� ���� �����,��

������� �:��������� �
���3

� ���� �� ��
�����	�� �� 
��
��� � ���������	� ����$ 
� �$� �� �:��� 

���"��� ��� � ���� �� �� ����
��� ��	���� ��� ��� ����
�� �$�� �
��� ������

�$� "��� 
� �4�$���� ���� �
	����� 5� ��� ���"��� ��
�� $���3 �� �
�����

�$�� �
�� �
� ���� �$�� �$� �
���� 
� �$� �$
�" �� �
� ��������� ���
�����

�
� 
�$�� 	�������� ���$ �� 
������ ����
 ����� ��� �
 
�3 !�� �$� �4�$����

���� �$����� 5� ���$���G� �� �����"��� �
���� �
 �$�� �
���������
�3

d jurzlqj iruhljq ghew/ frqvxpswlrq ri wudeohv pxvw ghfolqh vwhdglo|1 Wkh fxpxodwlyh

�yh0|hdu ghsuhfldwlrq zrxog eh prghudwh/ krzhyhu1

JC



+�6 2��� � � 	�
&��
�
�� �� � � ,� 	�&
��� �		����

���&��� 
�����/

������ �$�  ��� (***� ��	������� E
5� ��
� 
��
�� ,������ � �
����������

�
���
� 
� �$� �� ������� ���
��� ��,��� 6��� ���$���
�� ��$������ �� ��3

(***73 H
�8� �$� �&���� 
� � ���� �� �$� �� ������� ���
��� ������ ��������� 


� $
5 �
����� ��	������� �� �� ������ �� ����������� ���
�� �:��� � �
����

��� ������ �
����� ��	�������;

������ �$� ���5�� �� 
�	�
���  �� ���� �� �������� �$� 5������ �&���� 
��

�� � � ������ �� �� ��
�����	�� � ��� �� :���� �������	� �
 $
5 ���$ 
� �$�

���" �� �
��� � �
��������3 ������ $
5�	��� 
�� �4�$���� ���� ���������
� ��

������	�� �
���� �
 �$�� �
���������
�3 +$� �4�$���� ���� �$����� 5� ������� 

������� ��
� � ����������
� �&���� �� �$� �
���� ����
� ��� � ����� �������

��,���� �� 5��� �
����� ��5�� �
����� �

��� ��� �$� ����� 
� �
��������� 1

��
����� �

�� ���� ����3

+$� �4�$���� ���� ��
� ���� �
� �� ������������ � � ���� /00*� ����1�� ��

��:����� ������ ��� �� � �
 � �������$ 
� �
��
5��� ��� ������� ����������3

�$��� ������� ���
��� �$����� ��� ������ ��
� �
�,������� ����
�� ���$ ��

� �$��� �������
� �� �� ��	�������M �� �� ���	� �
 �$��" �$�� �� 
�� ,�������

������ �
��� �� �	������ �$��� �$���� �� �$� ���� ��
�
��� ����	�� 5
��� ��	��

$�����3

J2



+�7 ��� 
�	 ����� � � ��& ���� 
� � � �.	 ��!� ����

 ���/

H� $�	� ���� �����
�� �
� �
 ����� �$�� � �$��� ��
� �� �$� �4�$���� �����

�	�� �� 5��� �
 
����� 5
��� ���������� ��
���� ����� ���� �&���� 
� �$�

���� ��
�
� 3 ������ �$� ���1/02*�� �$� �����15���$��� �
���� ����� � �
��

��������� ���
�� >*-� ��� �� $�� $���� ��&���� �� �$� ��������$3 �
 �� ��

�
������ �$�� �	�� � �$��� �4�$���� ���� ��
� 5
��� ��
	� ������	�� ������3

������ ����� ����� �
	������ 
� �$�� ��������� 
�	�
��� �
�� ���"�� ���"�

5$��$ 
���� ���
�� �������� 
�� ����� �$� ����3 B�������� ������������
�

�
�� �� ���$ �
�� $��$� ��	��
��� �$�� 5�� �$� ���� �	�� ,�����  ����

��
� ��� 
�� ����
� ����� ������� �$�� � �$��� �
���� �
	����� 5
���

����� �� ��������3 ������� �$� ���"� ���� �����������3

0 1��	���
��

H� $�	� ������ �$�� ������� ���������
��� ���"��� ������ ���������� �

������ ���������� 
� �$� �� ������� ���
��� �
��� ��	
�	� � 	�� �����

����������
� 
� �$� �
����� � ������ 
� �$� �
��
������ �$��� �
5�5��� �$���

�� �$� ������ �
� �
����������3 +$�� �
��� $����� �	�� �$
��$� �� �� 

����
����� ���"
���� 
� �
��1���� ����
��� �
�	��� � �$� ������ ������ ���

����� <������ ���
�� �&
������� <�&
�� �
 ���	��� ��� ������� ��� �
�����

J0



����3 ���$ ����� ����������
�� $�	� 5���"�� $�	
� �� ��	��
���� �
��������

��� 5$��� �$� �� ��
�
� �� �������� �
�� ���������� 
�� ���������
�� �������

�$�� �$� ���" 
� ���$ � ����� ��� ����� ����������
� �� ����3

+$� ��:����� �4�$���� ���� ����������
� 5
��� �� ���$ �
�� �
���� ��

�$� �� ������� ���
��� ��,��� 5��� �
 ���� �������� ���" ���
 ������� 
	��

�� �4������ ����
�� �	�� �$
��$ �$� ���" ����1.�� ����
 ���$� �� $��$��3

�� �
����� �� �
�$��� �� ��� $������ ��� �� ���	��� ��	��� ������� �� ���

������� �
5 ��	��� �$� �� ��
�
� ���$� �	������� ���� �$� 5
��� 
� �
�$

5
����<� ��� �4������ ���� ��� � $���$����� �$���� �$�� �
����� ��	���
��

����� ��� �
��� � ������ ��� �
 �� �
����� �
��
5���3 �� �� 5��� �� ,	�

 ���� 
� �
�� ���
�� �$�� ������ ���������G��� ��� �� �� �������� �
� �



���� �
 ����� �$��"��� �
�$ ��
�� �$� �
���:������ ��� �$� ���"� �����

���������	� �
��� �������
�3

B
� �4������ �� �� ����� �$�� �$� �� ������� ���
��� ��,��� ���$� �� ���

������ �
�� 5��� �� �
� �
� �$� ���� �$�� �$� �
��
������� �
	������� ������


� �$� ������ ������ �� �� ����������� ������� 6����� ���� �$� ������� ���
���

������� �� ����� �$� ��&������ ���5��� ����
��� ��	��� ��� ��	�������73 ��

�$� ������ ������ 5��� �
 �������"� � ����� ��4 ���� �$� ������� ���
���

��,��� �
��� ����� 5���� �
 �	�� �
�� �������
�� ��	���347

47Rxu dqdo|vlv fhuwdlqo| vkrxog qrw eh frqvwuxhg dv vxjjhvwlqj wkdw wudgh uhvwulfwlrlqv

duh d jrrg phdqv ri forvlqj fxuuhqw dffrxqw lpedodqfhv1 Lqghhg/ phdvxuhv wkdw h{dfhu0

edwh pdunhw vhjphqwdwlrq zrxog lpso| dq hyhq juhdw vhqvlwlylw| ri wkh h{fkdqjh udwh wr

I*



�������4� ����������
���� ������ ��� �$� ��E���
�1

�������� ������� ���
���

+$�� �������4 �
������ � ����� ������ 
� �
�� ����� ���� �� �$� ��4� ��1

������� �
�$ ������� ���
��� � ������ ��� �$� ���������
� ���5��� ���� ���

��E���
�1�������� ������� ���
����3

=�� 
 ���
�� �$� �� ��
�" 
� ��� �
����� ������ �������� �� �
����� ��� �

�� .���������� �� �
�����3 �� �$� ��4� 5� ���� � �
 ���
�� .����������

�� ������ �

��� ��� �
� �
�	������� 5� �
5 �5���$ �
 � �
�	����
��� �
����
�

���
����� �
 5$��$ � � ��� 5$��� � �� �$� �
���� ����� ��	�� �� �$� �� ���

� �� ���� .��3 H� 5��� ���
 ��� �$� �
����
�� � � 
	�� �
� �$� ��
�" 
� ���

�
����� ������ �� � ����
 
� .��� ��� � � ��	�� �
� �$� ��E���
� ����� 5$��� �

@�
�A 
	�� � 	������� �����,�� �$�� 	�������8� ���� 
� �$���� 6����	���	� 5��$

������� �
 ����73 H� ��� � � ��	� ���
�� �$� ��
5�$ ���� 
� ���� .��� �


�$�� �� 	� � � � �3 =������ �� �
5 ���
�� �$� 6�
�����7 ������� ���
���

������� �������� �� �
������ 5� $�	�

�� � �
�

H��$ �$� ��������� �
����
�� 5� ��� ���������� �$� � ������ ������ ���

wkh fxuuhqw dffrxqw1 Ixuwkhupruh/ ehfdxvh wkh fxuuhqw dffrxqw htxdov qdwlrqdo vdylqj

ohvv grphvwlf lqyhvwphqw/ lpsruw uhvwulfwlrqv frxog vxffhhg lq vxevwdqwldoo| uhgxflqj wkh

h{whuqdo gh�flw rqo| e| udlvlqj qdwlrqdo vdylqj�d ghyhorsphqw wkdw vhhpv xqolnho|�ru/

pruh sodxvleo| exw xqghvludeo|/ e| vkduso| frpsuhvvlqj lqyhvwphqw1

I/



B����� C3 �����

�� �
�


�
�

#
��

�

$
� �

��

�
� 
� � �� ��

5� ��� �$�� �
� �
������ ��	��� 
� ��	� ��� � � �� �$� ����� 1����� ����
 
�

��� �
����� ������ �
 .�� 6�$� ��	�� �� 5$��$ �� � �7 �� ��	�� � 

�� �
��	�

� � �
�

+$��� �� ��	� � ������ ��� � � � � ���� �� ��������� 6�� �� �$� ��4�7�

5� 5
��� $�	� �� � ���		� 
� �� 22- ����� 1����� ����
 
� ��� �
����� ����

�
 .��348

�����	� �$�� �� � � 
	� �� �
������� �$�� �
 � 
� � ��
� �
 �$� �$����

�� �$� ���
 ��� �4������ ����� ��
�"� 
	� � ��

� 

	� �

��
�

�


�
� �




�
� �




�
� 6/7

=�� � ���
�� �
����� �� @���
����
�A 6��,��� �� �$� ��� 
� ���	��� ���

������ �
�������
� ��� ��	�������73 +$�� ������� 
� �$� ������� 

�
 � � � �
 � ��

5� ��� �$�� �� � � �� � �� �$� ���� �������� �����

� 

	� �

��
� � � �




�
�

�

�
� �




�
48Lq wklv dsshqgl{ zh zrun lq frqwlqxrxv wlph iru vlpsolflw|/ zkhuhdv wkh fdofxodwlrqv

lq wkh wh{w duh edvhg rq d glvfuhwh0wlph prgho1 Lq wkh h{dpsoh xqghuo|lqj Iljxuh :/ wkh

vwhdg|0vwdwh ghew0JGS udwlr lv <517(1

I(



�������� � �
������ ��	�� 
� �� =�� � ���
�� ���
����
� �� � �$��� 
� .���

� � �	�� +$�� �� �$� ����� ����� 5$��� � � 
	� �� �
������� �$� ����� 1

����� �$��� 
� ���
����
� �� .�� ��

�� � � � 
� � �����

��� �
� �4������ ��	������� ��� �
	������� �
�������
� ��� ���&����� � 

� ����� 1����� ��� �
����� ����� ���	��� �
�������
� 6�� � �$��� 
� .��7

5
��� $�	� �
 �� �
5�� � ��� ����� �$� ���� 6��"�5��� �4������� �� � �$���


� .��73

�� 
�� ���� ��� �� �����
� I� 5� ����
�� �$�� �� �
�� �
 G��
3 � ��	��� ��

�$�� ������� �� � �� 5$��$ ������ �$� ������
 ������� ���
��� ���
 ��������

������� 65��$ �
����	� ��E���
� ��� � ��� �
����� ����7 �� ��
��������������

������� ���
��� ������� 6B������� /0C073 %����� �$� ,��� �:����� �� �:��1

��
� 6/7� 5$��$ $
��� �	�� 5$�� 
	� �� �
� $��� �
������3 �� �$� �
�����

������� ���
��� �����,�� �� � �
 � �� �$�� �$� ���� 
� �$���� 
� �$� ��
�
1

� 8� ���
 ��� �
����� ����� �
����
� �:����

� 

	� �

��
� ��




�
�

5$��$ �� �
����	� 5$�� �$��� �� � ��� �
����� ���� 6
 � �73 +$�� �$� ��
�
� 

�� ��
���G��� ��� �
����� ���� �� ���� ����� 6������� �� ��E���
�1��������

�������7 5$�� � � �3 �� 
���� �$�� �$� ��E���
�1�������� ������� ���
���

�� G��
<�
 �$�� ���� ��� �
����� ������ ��� �
������<�$� �
����� �������

IJ



���
��� �� �$
��� �� �� ��,��� �� �$� ��	�� �� � �
 � �� +$�� �
�����

��,��� �
�����
��� �
 � ��	�� 
� ���
����
� 
� �������� �

�� 
� �A��

	�A ��

���$�� �$�� �$� �
5�� ��	�� �A � �

	�A � �
�������� �� �����
� I� ��� �$��

�
 � ����$�� ������� �
�������
� 
� ������ �
� ��������� �$�� �� �
�����

�� �$� ��4�3 6+$� ��&������� �4������� �� � ������� 
� .��� �� �
	�� ��

�� ������ ��E���
� ���� 
� (- ��� � �
����� ����1.�� ����
 
� *3(� �$��

��&������ ��
���� �
 *3I- 
� .��37

II



8������	��

O/P ������
�� ?3� ��� �3 L��� 3 6/00273 +$� ������������ ����4 
� �����

�
��� 3 ����
� !
��
� �
�����3

O(P !��
53 ?3� ��� #3 %
�
& 6/00*73 �������� �� �$���15
��� ���� 5��$1


�� ������� ��"�� �
 �$� ��������3 ������
 �� �������� ����������� I

6H�����7� J/1I(3

OJP �

�� � �3� ?3 B���"��� ��� �3 ���$���
�3 6/02C73 ���������
��� �������

�
����� � H$�� �
 ��	����1��	������� �
�������
�� ���� ��; ������������


�������� ���� ���� ������ JI� >*J1(03

OIP �
������$� %3 6/0C)73 
4�������
�� ��� �4�$���� ���� � ������3 �����

��
 �� ��
�����
 ������� 2I 6��������7� //)/1//C)3

O>P 
����� �3 6/00073 ���
������ �
� �3�3 ���� �4�$���� ���� �$�����3 �����

��
 �� ��
�����
 ������� /*C 6?���7� >*C1>J23

O)P 
����� �3� ��� ?3 %
����3 6/00)73 '
5 5��� �� �$� �
����; ��������

�������� ����� 2) 6��������7� ///(1//(>3

OCP 
	���� �3 6(***73 �
 ����
��� �
����� ������; ����
� B������ %����	�

!��" 
� L�5 Q
�"3

I>



O2P B��������� �3� ��� �3 '
��
"�3 6/02*73 �
������ ��	���� ��� �������1

��
��� ������� E
5�3 �������� ������
 0* 6?���7� J/I1(03

O0P B�������� �3 6/0C073 � �
�� 
� ��� �������� �� ����� �
 �
��������

����� ��E���
��� �
�����
��3 !������� ������
 �� ��������� 6�� 7�

(0/1(003

O/*P .��������� �3 6/02073 +$� ��
�
��� 	���� 
� ������ =

"��� �
 �$� ��4�

������ 3 ����� ������� �� "� #��$ "� �
����� J) 6?�� 73

O//P '����5���� ?3 6/00273%� ���& �� �������
 '������ ������( H��$����
��

�3�3� !�

"���� ���������
��

O/(P #������� �3 6/02>73 �� �$� ���
�� �
���� �����������; ��)&� *+�+ ��

��,

������ ����
�������- ���
��$- ��� ��
��� �������3 B������ %����	� !��"


� #����� ��� 3

O/JP =���� �3� ��� .3 ������1B������� 6/00073 +$� �4������ 5����$ 
� ����
���

�������� 
� �
����� ������ ��� ����������� �
� ���������� ��� ��	��
����

�
�������3 ���������
��� �
����� B��� H
�"��� ����� 00R//> 6��1

����73

O/IP =���� �3� ��� .3 ������1B������� 6(***73 +$� �������� ��
���� ��	�������

%��� �4�$���� ����� ��� ��� �
����� ������3 ������ �
� 
�
�
��� �
��� 

%������$ ��������
� ����� (>// 6?�� 73

I)



O/>P =�5��� #3 6/00073 +� ��� �
 �4����� �$� $
�� ���� �� �:������ ��� �
�1

������
�3 ������
 �� �������� .��������� JC 6?���7� >C/1)*23

O/)P ����� �3 6/00073 �� �&� *+�+ ����� ��/��� ��������'
�( H��$����
��

�3�3� ��������� �
� ���������
��� 
�
�
����3

O/CP ���$���
�� �3� .3 ��$������ �� ��3 6(***73 ������������
 ������
 ���$���,

0���
�������- ���������- ��� $�� ��
��� ������3 H��$����
�� �3�3� ��1

�������
��� �
����� B��� 6���������73

O/2P ��������� ?3 6/00>73 L���
��� �
����� ������� ������1�3�3 ����
���

����� ��������3 �������� �������� ����� 2> 6?���7� )/>1)(J3

O/0P ����
G�� 
3 6/00/73 %��� �������� � ���� �� � ����� 
��� ��
�
� 3

�������� �������� ����� 2/ 6���������7� C0C12/23

O(*P ��������� �3� ��� #3 %
�
&3 6/00)73 ����������� �� ������������


��������������3 ���������� ��� ��+ �����3

O(/P ��������� �3� ��� #3 %
�
&3 6(***�73 L�5 �������
�� �
� ��
�$����� 
���

��
�
� �
����3 ������
 �� ������������
 ��������� >* 6B������ 7�

//C1/>J3

O((P ��������� � ��� #3 %
�
& 6(***�73 +$� ��4 ���
� ��GG��� �� �������1

��
��� ����
��
�
����� �� �$��� � �
��
� �����; L���
��� !����� 
�

IC




�
�
��� %������$ H
�"��� ����� CCCCM �
��$�
���� �� "1�� ������

��������� �����
 2333� !3 !�����"� ��� #3 %
�
& 6���373 ����������

��� ��+ �����3

O(JP ������G���
� �
� 
�
�
��� �

������
� ��� ��	��
�����3 6/00)73 �����

������ �� ����� ��� �������� '�������3 ������ ������G���
� �
� 
�
�
���

�

������
� ��� ��	��
�����3

O(IP �8%
��"�� #3� ��� ?3 H�������
�3 6/00073 4
�'�
�5����� ��� &������3

���������� ��� ��+ �����3

O(>P ���� � ?3 ��� �3 %���$���3 6/00(73 ���	��� ��	��� ��� ����� 
� �����

�$
�"�3 ������������
 �������� ���� ���� ������ J0 6���������7� I0>1

>/C3

O()P %
��� �3 6(***73 ��� �
�� � 
�� ���"��� 
��������� �$� �&��� 
� �
�1

�
� ���������� 
� �����3 �������� ��
��� J* 6�����7� C1I>3

O(CP ��
�"���� �3� ��� =3 +����3 6/00>73 +����� ��� ���$�
�
� �� � �5
1

�
���� �
��� 
� �$� �������� � ���� 
4�������� ���������
��� �
�
	�1

�����3 �������� �������� ����� 2> 6����$7� /)21/2>3

O(2P �������� =3 6/02273 +�4 �
��� ��� ���������
��� �
�������	�����3 ��

������������
 ������� �� /���
 ��
���- ?3 B���"�� 6��373 �$����
� ���	��1

��� 
� �$����
 �����3

I2



O(0P +����� =3 ��� �3 H�����3 6/00273 +$� ���������
����G���
� 
� ����������

���"��� ����� �$� /02C ����$3 �� 1���$��	��6&����� ������ �� /������


��������� %3 =���� ��� �3 ����
���
 6���373 H��$����
�� �3�3� !�

"1

���� ���������
�3

OJ*P H��� �3 6/00273 '
5 ��������� ��� ����
�� �� ��
��� ���������
�; ����
�

'��	��� ���	����� 6?����� 73

I0



Table 1
Feldstein-Horioka Regressions, 1990-1997a

εβα ++=
Y
NS

Y
I

N. of Observ. α β R2

All countries b 55 0.13 0.49 0.46
(0.02) (0.07)

Countries with GNP/cap > 2000 41 0.07 0.70 0.62
(0.02) (0.09)

OECD countries c 24 0.08 0.60 0.68
(0.02) (0.09)

a OLS regressions. Standard errors in parenthesis.
b Israel and Jordan are excluded from all regressions in this table. The inclusion of both countries in the
first regression decreases the estimate of ß to 0.39. The inclusion of Israel in the second regression
decreases it to 0.63.
 c If one adds Korea to the OECD sample, the estimate for ß rises to 0.76. Korea is included in the larger
samples.

Table 2
Sensitivity to Outliers, 1990-1997a

εβα ++=
Y
NS

Y
I

OECD countries GNP>2000 All countries

Excluded Countries No. Obs. β No. Obs β No. Obs β

None 25 0.76 41 0.70 55 0.49
J b 24 0.74 40 0.70 54 0.49
S c 40 0.82 54 0.50
K d 24 0.60 40 0.67 54 0.46
M e 40 0.65 54 0.45
T f 40 0.64 54 0.44
S,J,K,M,T 23 0.49 36 0.46 50 0.22

a OLS regressions.
b Japan
c Singapore
d Korea
e Malaysia
f Thailand



Table 3: Production Weighted Average Tariff Rates

1989 1993

US 4.7 4.9
EU 7.3 7.7
Japan 4.0 3.5
Canada 9.2 8.9

Source: "Indicators of Tariff and Non-Tariff Trade Barriers,"  OECD 1996, Paris France, Table 11, p 40,
line 9
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*From Tesar and Werner (1998)

Figure 1:  Home Bias in Equity Portfolios: 1987-1996*
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Saving-Investment Puzzle: 1990-1997
OECD countries
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Saving-Investment Puzzle: 1990-1997
Non-OECD countries with GNP/cap.>2000
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Figure 4: US Current Account: 1970-2001
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Source:  World Economic Outlook, IMF, May 2000

Figure 5: Effective Dollar Exchange Rate
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Source:  "The International Investment Position of the United States," Survey of Current Business, July 2000

Figure 6: US Net External Investment Position (% of GDP)
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Hypothetical US
debt trajectory
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Figure 7: Up the Debt Ladder?
Projected US net foreign debt*

Net foreign debt
(ratio to GDP)

*Projection assumes US current account remains at -4.4% of GDP and nominal GDP growth remains at 5% indefinitely.



Figure 8
Anatomy of a Crash Landing for the Dollar

Many factors could push US current
account back towards historical
norms:  Euro-zone and Asian
productivity takes off, US stock
market crashes, etc.

Whatever the cause, suppose that
the US current account suddenly
moves into balance instead of 4.4% of
GDP deficit.

In the short run, consumption of
"traded" goods in the US drops 16%.

Price of traded goods relative to
nontraded goods must,
conservatively, rise 16% if large-scale
unemployment in the nontraded
goods sector is to be avoided.

At 20% net external
debt/GDP, US is nearing
1894 high of 26%.

Feldstein-Horioka
puzzle also implies that
the large persistent US
current account deficit is
unusual.

Home bias in trade
puzzle implies that the
effective share of
nontraded goods in GDP
is very high (>75%).
Sudden fall in imports
has big effect on
demand for
nontradables.

Requisite rise in relative
price of tradables
depends on
substitutability of traded
and nontraded goods in
both consumption and
production.  (For short
run, baseline assumes
one for consumption,
zero for production.)



If all goods prices are flexible,
dollar must depreciate by 12% to
maintain overall CPI price stability
and full employment in nontradables.
Traded goods (1/4 GNP) prices up
12%, nontraded down 4%.

BUT
Exchange rate "pass-through" to
import prices is at most 50% in short
term.  To get the necessary
adjustment in internal US prices for
traded goods relative to nontraded
goods, again to maintain full
employment in nontraded sector,
exchange rate must depreciate 24%.

BUT
Dollar prices of US-produced goods
typically move very little in the short
run.  If all adjustment falls on import
prices, exchange rate may need to fall
as much as 45% to maintain full
employment.

Assuming Fed allows
whatever exchange rate
adjustment is necessary
to maintain full
employment and price
stability.

Purchasing power parity
puzzle:  Pass-through of
exchange rates to import
prices is very slow,
perhaps 50% after one
year at the importer
level, less than 10% at
the consumer level.

Again assuming the
Fed is willing to
tolerate any exchange
rate movement to
maintain price stability.

The Fed faces a
tradeoff.  It must allow
a large dollar
depreciation to
maintain demand for
nontraded goods, but
this is likely to stoke
inflationary pressures.




